
Sideboard

Assembly Instructions / Montageanleitungen

Dimensions

Width - 47.2inch

Depth - 11.8inch

Height - 31.5inch

WF307275 / WF307276

Größe

Breite - 120cm

Tiefe  - 30cm

Höhe - 80cm

Issue 1 - 04/23/24

Wichtig – Bitte lesen Sie diese Anleitung vollständig durch, bevor Sie mit der Montage beginnen

Important – Please read these instructions fully before starting assembly







Male Camlock(6*34) x 20

A

D

G

Female Camlock(15*12) x 20

B

E

H

C

Dowel x 10

F

I

J K L

Hex Key M4 x 1

6*50mm Screw x 6

M N

Door Hinge x 4

O

P

Shelf Support Pin x 4

6*30mm Screw x 20

Wall Fixing Pack x 2

Door Hinge x 4

Ø20 Sticker x 6

Rebounding device x 4

3.5*14mm Screw x 56 Back Panel Stiffener x 16

Rubber Foot Pad x 8

505mm x 2

Components - Fittings / Komponenten - Beschläge

Notiz:

Bitte überprüfen Sie, ob Sie alle unten aufgfüehrten Panels haben

Die folgenden Mengen sind die richtige Menge, um die Montage abzuschließen. In manchen Fällen

 werden mehr Fittings geliefert als benötigt werden.

Please check you have all the panels listed below

Note:

may be supplied than are required.

The quantitie below are the correcet amount to complete the assembly. In some cases more fittings

Tools required / Werkzeuge benötigt

Kreuzschlitzschraubendreher

 (mittel und groß)

Lineal - Verwenden Sie dieses Lineal, um die Schrauben richtig zu identifizieren

0 5      10    15     20    25     30    35    40     45     50    55    60    65     70     75     80    85     90    95    100  105   110   115  120  125  130   135   140  145  150   155   160  165   170

Die Schraubenlänge wird vom Kopf bis zur Spitze gemessen (30-mm-Schraube abgebildet).

Ruler - Use this ruler to help correctly identify the screws

Phillips screwdriver

(medium & large)

The screws length is measured from the head to the point (30mm screw shown).



Using Camlocks

1

2

DO NOT OVER TIGHTEN.

NE PAS SERRER EXCESSIVEMENT.

3

4

4

Step 1

Step 3

Step 2

Step 4

Connect the male

camlock as diected in

the assembly instructions

using a scewdriver.

Push the male camlock

into the entry hole.

Insert the female

camlock as shown in the

instruction.

Note：ensure that the

arrow on the top of  the

camlock points towards

the entry hole for the

male camlock.

Turn the female camlock

clockwise with a

screwdriver.

You should feel a click

when the camlock is

locked in place.

The joint is now secure.

Verwendung von Camlocks

1

2

DO NOT OVER TIGHTEN.

NE PAS SERRER EXCESSIVEMENT.

3

4

4

Schritt 1

Schließen Sie das

männliche Camlock gemäß

den Anweisungen in der

Montageanleitung mit einem

 Schraubendreher an.

Schieben Sie das

Männlicher Camlock in das

 Eingangsloch.

Setzen Sie das

Femalecamlock wie in

der Anleitung gezeigt

ein.

Hinweis: Stellen Sie

sicher, dass der Pfeil

auf der Oberseite des

Camlocks auf das

Eintrittsloch für den

männlichen Camlock

zeigt.

Drehen Sie die

Weibliches Camlock mit

einem Schraubendreher

im Uhrzeigersinn.

Sie sollten ein Klicken

spüren, wenn der

Camlock eingerastet ist.

Das Gelenk ist jetzt

siche

Schritt 2

Schritt 3 Schritt 4



Assembly Instructions / Montageanleitungen

2

1

3

3

4

5

6

17

7

7

17

8

9

9

10

10

11

11

12

13

14

15

16



Part List / Komponenten - Paneele

 WF307275

1

2

3 4

1 PC

5 6

7

1 PC

8

9

10 11

12 13

14 15 16

1 PC 1 PC 1 PC

1 PC 1 PC

2 PCS 1 PC

1 PC

2 PCS

1 PC

2 PCS

1 PC 2 PCS 2 PCS

Part List / Komponenten - Paneele

 WF307276

1 PC

Hardware

die fünf Metalle

17

2 PCS



Step 1

Step 2

A x 14

A

C x 4

C

A

A

A

A

A

A

A

A

A

A

A

A

A

A

C

C

C

C

6

2

5

A x 2

A

C x 2

C

A

A

K x 8

K

G x 4

G

C

C

G

G

G

G

K

K

K

K

K

K

K

K

1

Assembly Instructions / Montageanleitungen

M x 2

M

M

M



Step 3

Step 4

B x 2

B

1 2 3

B

B

1

2

3

3
C

C

C

C

C x 4

C

Assembly Instructions / Montageanleitungen



Step 5

Step 6

B x 4

B

1 2 3

1

2

3

3

B

B

B

B

A x 4

A

A

A

A

A

1

Assembly Instructions / Montageanleitungen



Step 7

Step 8

4

B x 4

B

1 2 3

B

B

B

B

1

2

3

3

B

B

B

B

B

B

B

B x 7

B

1 2 3

6

3

3

1

4

Assembly Instructions / Montageanleitungen



Step 9

Step 10

B x 3

B

1 2 3

B

B

B

1

4

6

5

2

3

3

P x 2

P

Assembly Instructions / Montageanleitungen

17

7

7

17

P

P



Step 11

Step 12

E x 6

E

F x 1

F

E

E

E

E

E

E

F

8

6

5

2

9

9

10

10

11

11

H x 8

H

F x 1

F

H

H

H

H

H

H

H

H

F

F

Assembly Instructions / Montageanleitungen

1
9

,
6



Step 13

Step 14

8

H x 12

H

F x 1

F

11

11

9

9

H

H

H

H

H

H

H

H

H

H

H

H

10

10

N x 8

N

N

N

N

N

N

N

N

N

1

2

3

O x 6

O

O

O

O

O

O

O

Assembly Instructions / Montageanleitungen



Step 15

L

L

L

L x 16

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

L

Assembly Instructions / Montageanleitungen



Step 16

Step 17

D x 4

D

D

D

D

D

D

12

D

D

Assembly Instructions / Montageanleitungen



Step 18

Assembly Instructions / Montageanleitungen

M x 2

M

DANGER – To prevent furniture from toppling attach, mount, bolt

or otherwise secure to walls and floors. Do not put heavy items on

top shelves. Do not place unstable furniture near where children play.

An anchor kit suitable for plaster walls is included with this item, if

you require a different kit consult your nearest hardware store.

WALL

（1）

WALL

drilling hole

Ø6x30mm

（2）

WALL

（3）

（4）

WALL

M

M

M

M

M

M



Step 19

Step 20

K x 8

K

I x 4

I

I

I

I

I

K

K

K

K

K

K

K

K

13

16

K x 8

K

J x 4

J

K

K

K

K

K

K

K

K

14

15

J

J

J

J

Assembly Instructions / Montageanleitungen



Step 21

Step 22

K x 16

K

13

15

X4
K

X4
K

X4
K

X4
K

I

I

J

J

I

X4K

J

X4K

K x 16

K

16

14

X4
K

X4
K

X4
K

X4
K

15

13

J

X4K

J

J

I

I

I

X4

K

Assembly Instructions / Montageanleitungen



Step 23

Assembly Instructions / Montageanleitungen

Die Montage ist abgeschlossen.
Assembly is complete.


	图纸和视图
	模型

	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型


	
	图纸和视图
	模型
	OLE1



	
	图纸和视图
	模型
	OLE1



	
	图纸和视图
	模型
	OLE1



	
	图纸和视图
	模型
	OLE1



	15.pdf
	图纸和视图
	模型


	1.pdf
	图纸和视图
	模型



